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1. State four situations that may prompt managers to convene meetin gs in an organization.
: (4 marks)
2.  State three ways in which an interviewee should conduct himself when responding to questions
during an interview. (3 marks)
3. List four barriers to effective oral communication. (4 marks)
4.  State two messages that may be relayed through a hug. (2 marks)
5.  List three qualities of a good report. (3 marks)
6.  State four advantages that an organization may get by communicating to its customers through
WhatsApp. (4 marks)
7. List three uses of personal information in a résumé. (3 marks)
8.  State three advantages of using visual aids when communicatin g. (3 marks)
9. List three reasons why the receiver of 4 message may fail to give feedback. (3 marks)
10.  State three roles of internal communication in an organization. (3 marks)
N
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SECTION B (68 marks)
N -.
Answer ALL the questions in this section. 4
11.  Student enrolment at Sololo Technical College has been declining over the past two years. As
the Assistant Administrator, you have been requested by the Board to investigate the matter and
write a report making recommendations. Assume you have completed your investigation and
write the report. - (16 marks)
12. (a) The company you work for recently conducted interviews for the post of Office i
Assistant. Mr. Saidi Kome was ranked the best candidate during the interviews. %
As the Personnel Officer, write a letter to Mr. Saidi offering him the job.
i * g —
(12 marks)
(b) Outline three challenges that may be faced when conducting an online meeting.
(6 marks)
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SECTION A (32 marks)

Answer ALL the questions in this section.
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13 ' (a} ‘“ Explain four organizational barriers that may lead to ineffective comm unication.

g (8 marks)
\ ¢ \_/
¥ Describe the following types of interviews that may be conducted in an organization:
F D
L g (i) Appraisal;
P :: 0 (i)  Selection;
3 AT @

(iti)  Promotion;
(iv)  Exit.
(8 marks)

Read the passage below and then answer the questions that follow.

Climate change is no longer a hidden phenomenon. It is happening globally and there is enough
scientific evidence to this effect. The shifting rainfall patterns, including the increased intensity
of the El Nino and La Nina phenomena, and the rising temperatures that bring about erratic

- - -
occurrences of tropical storms and drought, are evidence of changing weather patterns. The

changes portend damaging after-effects, yet they are partly driven by human activity.

Kenya is extremely wble_m changes of climate because its economy is largely dependent
on rainfall. For example, crop production and livestock keeping rely heavily on rain. Given that
agriculture supports about 75 per cent of Kenya’s population, erratic weather poses a threat to
food security which is already a major problem in the country. Besides, agricultural produce
forms the bulk of Kenya’s exports, Bad weather conditions have drastically reduced agricultural
exports resulting in lower Gross Domestic Product (GDP) and less forei gn exchange.

In addition, Kenya is heavily reliant on hydro-electric power, a sustainable source of renewable
energy. Long spells of drought greatly affect hydro-electric power generation. Further, climate
change has affected tourism negatively. Tourism, a major foreign exchange.earner, is a highly
sensitive industry since climate change affects a wide range of environmental resources. For

example, changes in rainfall patterns cause grass levels to either increase or decrease, thus
causing migration or death of wildlife. This has led to a reduction in wildlife population and
extinction of some species, thus affecting the number of tourists visiting Kenya.

The predicted global impact of climate change is believed to be more intense in tropical

areas, where Kenya lies, than in temperate zones. For instance, it is expected that globa
food production needs to increase by a minimum of 50 to 70 per cent by 2050 because the
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population is projected to rise to 9.6 billion from the present 7 billion. On the other hand,
lenient predictions forecast that global crop yields will decline by about 15 per cent per decade
if appropriate climate adaptation is not put in place. These effects foretell a distressing future if
efforts are not made to make agriculture climate-smart. While increased agricultural productivity
is M the BYEQE’“‘?E_S_‘E_?IOMI food production shortfalls, the same agriculture
contributes to emxesm'n;of the é;eenhouse gases responsible for climate change. In fact, it is
estimated that agriculture contributes about 30 per cent of global greenhouse gas emissions. This

calls for an urgent need to aggressively adopt Climate Smart A griculture (CSA).

CSA is aimed at achieving what is termed as triple wins. These include sustainably increasing

agricultural productivity and incomes since agriculture is the backbone of the Kenyan economy.
: =

It also includes adapting agricultural systems, building resilience to climate change and reducing

greenhouse emissions. CSA has given rise to the Kenyan Climate Smart Agriculture Project

(KCSAP); a government initiative supported by the World Bank that is being implemented in 24

counties. '

KCSAP performs several functions. Ome' such function is to strengthen climate—smart

agrlcultural research and seed systems; This suppons the development validation and adop_tlon

smart agncultural practlces_by ﬁnanmng interventions that g&mote and faghtal:e_mem

agricultural technologies, innovations and management practices. This is aimed at achlevmg
increased productivity, enhanced resilience and reduced greenhouse gas emissions.

KCSAP further supports agro- weathe:,marketelmu: and advisory services by financing the

development of agro-weather forecasting and marketing information systems. Besides, 1t finances

—

actwmes related to national and county y project coordination and management such as annual
work plans and budgets. In addltlon it has an emergency contingency response which involves
financing recovery efforts from natural and lflan-made disasters such as desert locust control.
Although Kenya has faced considerable challenges in responding to climate change, some farmers
have made significant adjustments in farming practices. It is, therefore, hoped that individual and
government initiatives such as KCSAP will cushion farmers, and the nation at large, from food
insecurity. More importantly, it is anticipated that the agricultural sector will be boosted as the
backbone of the economy. '

Adapted from: “Daily Nation” Saturday, February 29, 2020.
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(a)

(b)

)

State the meaning of each of the following words and phrase as used in the passage:

(i) erratic;

(ii) drastically;

(iii)  awide range of;
(tv)  backbone;

W) man-made.

(5 marks)
Highlight, according to the passage, why Kenya is extremely vulnerable to changes in
climate. (5 marks)
In about 110 words, and according to the passage, write a summary on the functions of
KCSAP. (8 marks)
qﬁ

THIS IS THE LAST PRINTED PAGE.

| syVLs T K(__SA{J ' ” QSO({(C’ Jsé-;t:"d.
ﬁnﬁﬁp d (LS Tl lH vichy ALLL{":’U d‘i@(ﬁkan

=118 Swunoot il e = —t retl { SE"'—" ov //('
/«J\/I,,-'L L= \ ‘J-i’c b .._;f.\:' ’l'\ (!:’::.i'\ Ci._’\'l R C_LLW’LCL'LC -}"'fﬂm
. seeds e
= LJ‘/I’l JCC"“@ ~ r : --“ﬂd"‘[‘
NCerrlit & t%)ﬁ‘kut[bn SN 2

sl g mlge SSEHEE s _ndm;,@ _ :
/’i""ﬂq L e (A LED iy = Mllwﬂ’l _]_,,,LJN-m‘m,_ng P

n l’lb’ﬂ (& yreread € d

t L S Lia
JU{CT re et SCLJ B 4 V_]\I
'’ LA +‘Lk—h Jb c[ﬂ < R {5

x> Fo % l[ﬂ{4c o ‘s-
._c,_:u"?d.h’lﬁ"r R pat=d( [LG’J‘
wpp “a7 / JA\Q &l;_\m\afm
1 ctl&c _,\\.hl{;F \‘:‘b fv-ﬂm”ttnfj
fr a2 o amuCc:'J . di gmc_ el Lr—”l‘l
g A | pen
= = T <8 !
T ‘%W‘LTW’T .S._’gq']“fﬁ’h‘ ape i i 1
5,L—gtf'l£;dlcf-$ ach lt._i.f.’t'_luf.‘( f’C""“C”"' p
ed-to 4 l cza"\d cwﬂ\_j 4
Cordine & rapag M s e h
; a3 O‘inﬂt{c/h{ (_,HD{,Z_ Flyg é’bf%ft“ﬁ
2002104 260 (LT'\{‘YL 1‘5 1\:&_‘. E’m&.r&(’n_c_(__\j CO/H

2912/104 2918/104

et S R P g

i, oo ) g B B L

Y B - - S e



